
1300-1353 Page 1 of 4
Peerless #1

www.mymowerparts.com

For Tecumseh Peerless Transmission Transaxle Parts Call 606-678-9623 or 606-561-4983



1300-1353 Page 2 of 4
Peerless #1

Ref #  Part Number Qty Description
1 772085 Cover Assembly (Incl. 2 & 73)1

2A 780088 Needle Bearing 3/4" ID1
2 780013 Needle Bearing 3/4" ID2
3 770052 Case Assembly (Incl. 2 & 2A)1
5 778041 Output Pinion1
6 778036 Output Gear (36 teeth-steel)1

13 778198 Bevel Gear (16 teeth-steel)2
14 778197 Bevel Pinion (10 teeth-steel)2
15 778033A Ring Gear (31 teeth)1
16 786027 Drive Block2
17 786019 Drive Pin1
18 786017 Spacer1
25 792046 Screw 1/4-20 x 1"10
26 792018 Retaining Ring .689 Ext2
29 780001 Flat Washer2

31A 780107 Flat Washer2
31 780042 Thrust Washer4
36 790027 Brake Disk1
37 790007 Brake Pad Plate1
38 790006 Brake Pad (pkg of 2)2
39 786026 Dowel Pin2
40 792076A Flat Washer .312 ID x .059W1
41 790041 Brake Lever1

42A 792085A Screw, 1/4-20 x 2-1/4"1
42 792073 Screw, 1/4-20 x 1-1/4"1
43 792075 Lock Nut, 5/16-241
44 790025 Brake Pad Holder1
45 786066 Spacer .2625 x 1.01
46 786086 Brake Lever Bracket1
47 774527 Axle (15.172" long)1
48 774825 Axle (27" long)2
67 776207 Shifter & Brake Shaft (14 teeth)1
73 780089 Needle Bearing 1-1/8" ID1
76 780090 Flat Washer1
85 792010 Pipe Plug 3/8" Square Head2
87 788008 Oil Seal 1"3

101 774028A Differential Carrier1
102 774029A Differential Carrier1
103 792020 Screw 1/4-20 x 2-1/4"4
104 792006 Lockwasher .218 ID4
124 788044A Case-to-Cover Gasket1
132 778083 Idler Gear (29 teeth-steel)1
136 782042A Axle Housing & Bushing (Incl. 137)1
137 780054 Bushing 1.0024
138 782022A L.H.Housing & Bushing (Incl. 137)2
180 730229A Gear Oil SAE 80W901

www.mymowerparts.com

For Tecumseh Peerless Transmission Transaxle Parts Call 606-678-9623 or 606-561-4983



1300-1353 Page 3 of 4
Peerless #2

www.mymowerparts.com

For Tecumseh Peerless Transmission Transaxle Parts Call 606-678-9623 or 606-561-4983



1300-1353 Page 4 of 4
Peerless #2

Ref #  Part Number Qty Description
47 774527 Axle (15.172" long)1
48 774825 Axle (27" long)2

www.mymowerparts.com

For Tecumseh Peerless Transmission Transaxle Parts Call 606-678-9623 or 606-561-4983


